EXTHHEE OOT|ERX

BHEHEB LEEREWN) | MIEERA B iR (D) - (B) &=
< Y—ERFEERBDOE >
< IR#E >
SBINGS 25,900 34,800 ~8.900
— S BERE 25,900 34, 800 ~8. 900
BRERERY SIS 1. 154, 000 1025, 000 129, 000
i B BT A1 4 B & AN 3S 1154, 000 1025, 000 129, 000
EBWS— MR- UISEE S LRSI 1,154,000 1,025, 000 129, 000
ZREIRE 1,474, 000 1267, 200 206, 800
BT 2 & INES 1474, 000 1267, 200 206, 800
VA= AME LA —BEZHERE 1, 474, 000 1,267, 200 206, 800
EETTE 9, 556, 135 9,512, 160 43,975
FIFE AL IR 28 7,545, 149 7,586, 357 —41, 208
FHEHRE 745 774 756, 090 10, 316
MHEZIRE 1,265,212 1169, 713 95, 499
— E R EBREE (1) 12,210, 035 11,839, 160 370,875
< &m >
ANEE 1249989 1168, 000 81,989
FEHBEKLS 1,241, 150 1164, 351 76,799
R B 8,839 3,649 5,190
EE3 10, 643, 923 10, 128, 402 515, 521
KBS EBE 288, 383 263,849 24,534
PRE 2 180, 954 116, 856 64,098
EmREE 180, 954 116, 856 64,098
HERERRE 93, 999 32,423 61,576
Rz 512, 200 373,980 138, 220
HE 67, 200 132, 540 ~65, 340
B ERE 61,379 41, 308 20, 071
EBERE 971,917 683,713 288, 204
FHH 25, 080 25080 0
BH® 7,406, 864 7.495 217 ~88, 353
MHEZZH 979,077 948,916 30, 161
B 56, 870 14,520 42, 350
EBE 7,000 105, 000 ~98, 000
HARAE 7,000 105, 000 ~98, 000
BiESER 0 10, 000 ~10, 000




RSB 0 10, 000 ~10, 000
EBRAER 0 10. 000 10000
AEAE 8,209,614 8,209 650 36
EEHBEEETEIL I EREE -8,209, 614 -8, 209, 650 36
T—E R EHEMT Q) 11,900, 912 11411, 402 489510
Y EREBERER Q)= ()0 309 123 427 758 118, 635
< HY—ERFEISNEBOE >
< RE >
LGRS 125 76 19
H—E X EE S IR (4) 125 76 49
< BR >
H—EXEESNE R (5) 0 0 0
H—E R EESMEREEE (6)=(4)-(5) 125 76 49
EEERERE =036 300,248 477,834 718, 586
< $REBOE >
< WE >
R 0 30,000 =30, 000
BEE OB 0 30. 000 =30 000
BRI () 0 30. 000 230000
< BE >
EE &SNS - Wi 0 1 -1
HER W ERFTEE - UHiE 0 1 -1
RO 0 i T
RS (10)=(8)-(9) 0 29,999 29,999
LEEEEEERE ()= ()+(10) 300, 248 157 833 748, 585
< EHEISEBEZEOERE >
R B EEE (12) 295, 544 337,711 47167
LB ETERER (13- (12 604 792 795, 544 190, 752
HEAREHERZE (14) 0 0 0
H L EEREE (15) 0 0 0
FOMDIEIILENERZE (16) 0 0 0
O OE T 2R (17) 0 500, 000 =500, 000
UL —ERBARE R 0 500 000 =500, 000
RIFHRILTE I 180 2= 28 604, 792 295, 544 309, 248

(18)=(13)+H+(15)+(16)-(17)




